D.AV. INSTITUTIONS, WEST BENGAL ZONE

MID TERM EXAMINATION
SESSION 2022-2023

Class: X Maximum Marks: 50
Subject: Artificial Intelligence (417) Time: 2 Hours
General Instructions:
1. Please read the instructions carefully.
2. This Question Paper consists of 04 pages & 15 questions in two sections:
3. Section A (24 Marks) & Section B (26 Marks).
4. Section A has Objective type questions whereas Section B contains Subjective type
questions.
5. All questions of a particular section must be attempted in the correct order.
6. Write the option (a/b/c/d) with answer for MCQ.
SECTION A
Q.1 Answer the following questions. 1x4=4
i Which form of communication is extremely private? 1
a. Interpersonal
b. Interpersonal
c. Small group
d. Big group
ii. Stress is --------- response of the nervous system to any threat, challenge 1
or problem.
a. Deliberate
b. Automatic
c. Delayed
d. None of these
iii. Regular practice of meditation reduce ----------- : 1
a. Stress
b. Anxiety
c. Depression
d. All of these
iv. CUI refers to ------------------- : 1
a. Character user interface
b. Common user interface
c. Clever user interface
d. None of these
Q.2. Answer the following questions. 1x5=5
I What type of data set constitutes images and videos? 1

a. Structured data
b. Unstructured data
c. Level data
d. Responsive data
What does NLP stand for in Al? 1
a. Neutral Learning Projection
b. Neuro-Linguistic Programming
c. Natural Language Processing
d. Neural Logic Presentation
Self driving car is an example of 1

a. NLU b. NLP c. NLG d.CVv
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In simple words, ethics are concerned with:
Q) What is good for individuals
(i)  What is good for societies
a. Only (i)
b. Only (ii)
c. Both (i) & (ii)
d. Neither (i) & (ii)
Which of the following technology is predominantly used by Amazon
Alexa?
a. Image recognition
b. Speech recognition
c. Robotics
d. Neural stems
Answer the following questions.
Which of the following is not one of the ethical concerns related to the Al
systems?
a. Job loss
b. Decreasing inequalities
c. Privacy concern
d. Negative adaptation
During early period, the research in Al systems was restricted to -----------

Solving problems
Duplicating the functioning of the human mind
Winning defence capabilities
d. Winning computer games
Which of the following is not an area of Al?
a. Computer vision
b. Voice recognition
c. Web design
d. Image recognition
Machine learning understands data through:
a. Developer
b. Set of codes
c. Ethics
d. Pattern
Which of the following is not a goal of Al?
a. Fairness
b. Accountability
c. Transparency
d. Obligation
Answer the following questions.
Which of the following provides us with an appropriate framework which
can lead us towards the goal of our Al Project?
a. 4Ws Canvas
b. Al Project Cycle
c. 17 SDs
d. Al Models
What are the two different approaches for Al modelling?
a. Rule based and Learning Based
b. Teaching based and Learning based
c. Rule based and Decision based
d. Decision based and Clustering based

oo

1x5=5

1x5=5
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Which statement(s) is/are applicable for Problem Scoping of Al project
cycle?
a. setting the goal
b. identifying the problem
c. adeeper understanding of the problem
d. All of these
Which of the following node is the first node of a decision tree?
a. root
b. terminal
c. interior
d. parent
Which language is easy to learn and is one of the most popular language
for Al today?
a. C++
b. Python
c. Ruby
d. Java
Answer the following questions.
What is the 3rd stage of A.l project Cycle?
Planning
Modelling
Data Exploration
Data Collection
works on discrete data sets.
Classification and Clustering
Regression and Clustering
Classification and Regression
d. Classification and Evaluation
Which of the following is not in the 4Ws Problem Canvas?
a. Where
b. Whose
c. What
d. Why
How many SDGs have been announced by the United Nations?
a. 20
b. 17
c. 2030
d. 2020
Which of the following is not a stage of Al Project Cycle?
a. Modelling
b. Problem Solving
c. Data Exploration
d. Data Acquisition

o0 ow
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SECTION B

Answer the following questions.

Q.6.

Q.7.
Q.8.

Q.0.

Write any 4 ¢’s of 7 ¢’s of effective communication.

What will be the effect of regular physical exercise?

What is the difference between moving and copying file?

What is Artificial Intelligence? Write its three domains.

1

1x5=5

2x7=14
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Q.10.

Vikash has identified problem and the vision to solve it. He has also 2
defined what is to be done to solve a problem and plan to be followed for

solving the problem. But he is confused which is this stage in the project

cycle, help him in identifying this stage.

Q.11. Define Big data. Write any two parameters of Big data. 2
Q.12. Define Data Visualization. Write any two Data Visualization tools. 2
Answer the following questions. 4x3=12
Q.13.  Write short note on Machine Learning and Deep Learning. 4
Q.14. What is neural network? Write the features of neural network. 4
Q.15. The following is incomplete data set comprising 3 parameters which led to 4

the prediction whether sail yes or no. the parameters which affect are:
Outlook, company & sailboat. A decision tree for this data set is also given.
Fill the box with proper data and write complete data(with filled up data).

OUTLOOK COMPANY SAILBOAT SAIL?

1 SUNNY BIG SMALL

2 SUNNY MED SMALL YES
3 SUNNY MED BIG

4 SUNNY NO SMALL

5 SUNNY BIG BIG

6 RAINY NO SMALL

7 RAINY MED SMALL

8 RAINY BIG BIG YES
9 RAINY NO BIG

10 RAINY MED BIG

SUNNY
YES

SAILBOAT

*hkkkhkhkkhkkhkhhkkhkkhkhkhhhkkhkhhkhhhkkhkhhikihkikx
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DAV INSTITUTIONS, WEST BENGAL ZONE
MID TERM EXAMINATION
SESSION 2022 — 2023
CLASS: X MAXIMUM MARKS: 80

SUBJECT: BENGALI TIME: 180 MINUTES
General Instructions:

Read the following instructions carefully and strictly follow them.

(i) This question paper contains 10 questions in 12 printed pages.

(i) Part A (Section-A —Section-C) - Q. No. 1 to 5 are MCQ.

(iii) Part B (Section-A —Section-C) - Q. No. 6 to 10 are descriptive type questions.
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QL.

D.AV. INSTITUTIONS, WEST BENGAL ZONE
MID TERM EXAMINATION
SESSION 2022-23

Class: X Maximum Marks: 80

Subject: English Language &L.iterature(Code No:184)  Time: 3 Hours
General Instructions:

1. The Question Paper comprises 9 pages, contains THREE sections-READING, GRAMMAR

& WRITING and LITERATURE.

2. Attempt questions based on specific instructions for each part.

3. Adhere to the word limit wherever prescribed.

4. All answers must be correctly numbered as in the question paper

Section A (Reading Skill)

Read the passage given below carefully :
1. Have you ever gone to a mall not intending to buy anything, only to return with an
armful of shopping that you were powerless to resist? The fault lies not with you. Clever
marketing strategies were at work to catch your eye, hold your attention and make you
give in. The trap is set long before you set out to the mall. Advertisers use everything,
from product placement in films and TV shows, to bold and colourful advertisements that
‘soften’ you up with their subtle messages.
2. Once you arrive at the mall the pitch for your money begins in earnest. Products are
placed in prominent corners or set in confused layouts that force you to browse a little
longer. Aromas that make you relax and clothes that simply beg to be touched or tried on,
are other games that play on your senses. Thus, the odds of you leaving the mall without
buying anything are slim.
3. In case of clothing stores as well, items are placed strategically. You could have
entered the store with the intent of buying a shirt for an occasion and once you have
decided on it, on the way to the billing station you pass a shoe display. You decide that
one pair of shoes can’t hurt and continue on only to encounter the bag section. This is just
an example of how cleverly the layout of each store is planned.
4. Many food companies with products high in sugar, fats and preservatives, target their
advertising by building youth —friendly brands and offering loyalty rewards. They
promote product placement in areas frequented by children, including school
environments, or on television programmes for young audiences. Studies have shown that
children exposed to these advertisements are more likely to choose products seen there
than children who are not. In fact, advertising, targeted at children, influences their value
system and even strains the parent-child relationship.
5. At the end of the 1950s, author Vance Packard asked a question that resonates
ominously today: “By encouraging people constantly to pursue the emblems of success
and by causing them to equate possessions with status, what are we doing to their
emotions and their sense of values?” I would call it psychological warfare that spares
nobody. All of us are caught in the crosshairs. And the only way against being
manipulated is to get wise to it.
On the basis of your understanding of the above passage, answer the following
guestions.
I. According to the passage, it is hard for anyone to enter a mall and come out without
buying anything because

A. one is weak-willed

B. clever marketing strategies affect one subtly

C. one is powerless

D. malls offer one attractive bargains
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Q2

ii. What can be inferred from the statement ‘Once you enter the mall, the pitch for your
money begins in earnest’?
A. The aromas in the mall will make you relax and restrict you from buying anything.
B. Each clothing item is lovelier than the next, making it impossible for you to
choose
C. Their powerful marketing strategies will tempt you into buying a lot of things you
didn’t intend to buy.
D. You will browse around but will leave without purchasing anything
iii. The layout of each store is
A. cleverly planned
B. never planned
C. justarandom arrangement
D. never given any importance.
iv. Food companies persuade children to buy unhealthy products by :
Advertising them on television programmes that young children watch
Advertising them on television programmes that their parents watch
Promoting them in school environments and by building youth friendly brands.
Promoting and passing these products off as healthy
land?2
2and 3
2and 4
land3
V. ‘Studies have shown that children exposed to these advertisements are more likely to
choose products seen there than children who are not.” The word ‘there’ in the sentence
refers to
A. television programmes
B. public cafeterias
C. aclothing store
D. products high in sugar and fat
vi. In what ways are advertisements that target children harmful?
A. They become obsessed with loyalty rewards.
B. It influences their value system and causes friction in the parent child relationship.
C. It causes them to frequent those areas inside school.
D. It exposes them to inappropriate content
vii. Which of the following statements best explains the line ‘And the only way against
being manipulated is to get wise to it.”?
A. The best way to tackle this is to go with the flow.
B. The best way to tackle this is to stop watching advertisements.
C. The best way we can stop being influenced by these strategies is by being alert and
aware of them.
D. The best way we can stop being influenced by these strategies is to use these
strategies ourselves.
viii. Through the given passage the writer intends to
A. offer advice to buyers and sellers.
B. make the readers aware of how clever marketing strategies influence all of us.
C. threaten advertisers by making the reader aware of what they are doing.
D. encourage the reader to equate possessions with status.
ix) Replace the word ‘thin’ with a word which means the same as given in para 2.
X) Find out a word from para 4, which is opposite to the word ‘abandoned /avoided’.

Read the passage given below carefully:

1. By generating a means of employment for people with excellent artistic abilities and
incredible imagination, the animation industry is growing into a multi-crore industry with
vast career prospects. The animation is the linking and the manipulation of still images to
create an illusion of motion. Images, graphics, text, and audio are brought together to
create a live moving picture on the screen. Thus, the animator, who is an expert in

TOW>AwNE
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animation art, gives life to a character using a blend of imagination and technology.

2. Aspirant animators must have a passion and a flair for drawing and creative
imagination. In addition, they must also possess an advanced level of technological
understanding. An animator must have good communication skills because the field
requires him to meet and interact with large number of people.

3. In present scenario, animation has a plethora of opportunities in areas like films,
cartoons, advertisements, television, and product designing. The animation industry can
be broadly classified into categories like 3D and 2D animation, gaming, multimedia, web
designing, and visual effects.

4. In India, the animation industry is growing immensely thus making the country a
destination of the outsourcing of animation work. The reasons for this mainly are skilled
workers and low cost of production besides the rise of the gaming industry. Apart from
this, the Indian audience is showing keen interest in animated movies and commercials
which has led several production houses to produce a greater number of animated movies.
5. Being aware of the increasing popularity of the animation industry, educational
institutions across the country are beginning to include animation courses in their
programme. A number of animation institutes have also come up in India which will help
students both in grooming their creative skills as well as in their placements.

6. The magical world of animation is thus becoming one of the fastest and most
lucrative industries in India. Despite a humble start in the year 1974 with the educational
animation film 'Ek Anek Aur Ekta', the animation industry in India is a well-established
career option today.

% of

Recruit- | Year
ment
0.25 2006
0.31 2007
0.37 | 2008
0.48 2009
0.59 2010
0.70 2011
0.94 2012

Figure: Rising popularity of the animation industry.

Based on your understanding of the passage, answer the following guestions.
i. According to the passage, an animator

A. Shows interest in animated movies and commercials

B. Gives life to a character using a blend of imagination and technology

C. Works towards the low cost of production

D. Destroys still image
ii. Select the option that is TRUE pertaining the relation between the two statements
given below.
() The animation industry had a very slow and humble start in India.
(1) The world of animation is becoming one of the fastest and most lucrative industries in
India.

A. (1) is the result of (11).

B. (I) is the reason for (I1).

C. (1) is independent of (II).

D. (1) contradicts (11).
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iii. According to the figure given in the passage, which year shows the highest
percentage of recruitment in the animation industry?
A. 2009
B. 2006
C. 2010
D. 2012
iv. The animation industry can be broadly classified into categories like 3D and 2D
animation, gaming, visual effects, web designing, and
A. graphics
B. multimedia
C. commercials
D. movies
v. Choose the correct set of qualities that a good animator must possess.
(I) Passion and flair for drawing and creative imagination
(1) Flair for creative writing
(111) Commercial work experience
(V) Must have good communication skills
(V) Advanced level of technological understanding

A. I, IVand V
B. I, Illand IV
C. I,1Illand V
D. I, llland IV

vi. The animation institutes help the students in

A. making commercial movies

B. placements

C. grooming their creative skills

D. Both (B) and (C)
vii. Based on your reading of the passage, which two sentences from the following
are TRUE?
() The animation destroys still images to create an illusion of motion.
(1) In India, the animation industry is growing immensely, thus making the country a
destination for the outsourcing of animation work.
(1) An animator must have good writing skills because the field requires him to write
creative content.
(IV) Aspirant animators must have a passion and a flair for the drawing and creative

imagination.
A. land Il
B. lland IV
C. land 1l
D. Il and Il
Vil cevviinniannnnnns are brought together to create a live moving picture on the screen.
A. Images, graphics, text, and audio
B. Graphics, text, 3D and 2D animation
C. Web designing, multimedia, text and images
D. Images, gaming, multimedia, and audio

ix. Find the word from Para 3 which means ‘overabundance’
x. Why is India, a terminus of the outsourcing of animation work?

Section B ( Grammar and Writing Skill)

Fill in the blanks with correct forms of verbs given in brackets. Attempt ANY THREE.
Gandhiji was studying in England when | (a) (meet)him  first. He
(b) (waste) a lot of money on buying smart English clothes. After three months
he suddenly realised his mistake and (c) (begin) to devote all his time to serious
study. Gandhiji found out that he (d) (do) a wrong thing by copying dresses to
become an English man.
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Q5

Q6

Q7

Read the conversation given below and complete the passage that follows.
Captain : Do you know how to play cricket?

Nitin : I had no opportunity to learn it earlier.

Captain : In this school every student has to learn it.

Nitin : Please give me a chance to learn it.

On being asked by the Captain if he knew how to play cricket, Nitin replied that he
@ opportunity to learn it. The Captain further told him that everyone
(b) . At this, Nitin requested the Captain (c) it.

In the following passage one word has not been edited in each line. Write the incorrect
word along with the correct word in the space provided. The first one has been done as an
example. Attempt ANY FOUR.

Incorrect Correct
Many a man read books to spend their e.g. read reads
leisure times. Reading books are one of the best a) _
hobbies. It entertains you as well as improve by _
your expression. It may strengthen your c) _
vocabulary. If you can’t decide whose books d__ L
to read, you could consult your librarian. e _

Attempt ANY ONE of the following questions:

i) Social networking sites have become the latest obsession for school going children. The
craze has a very frightful impact on the youngsters. Considering its gravity, you want to
express your concern. Write a letter to the Editor of Hindustan Times in 100-120words.
You are Nitin/Nutan of H.No. 123/8, S.N. 15, Sant Nagar Delhi-110084.

OR

i) You are Rohit/Radha, a resident of Janakpuri, North Enclave, New Delhi. A new
Literary club is due to open near your residence. You are keen to join it. Write a letter in
100-120 words to the President of the club, Gen-Orators, inquiring about the procedure
for obtaining membership (other appropriate enquiries will be accepted).

Attempt ANY ONE of the following questions:

The bar graph given below depicts and compares the number of students of class eleven
opted for stream of Arts, Commerce and Science in the year 2017 to 2019 in the Public
Schools of Durgapur. Analyse the given data and write a paragraph in about (100-120
words) elaborating the given information.
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Read the following excerpt taken from an article that appeared in the magazine section of a
local daily. “A recent study found that given the pressure of studies and addictions like the
Internet and television, children are sleeping less than the required eight hours.” Taking
help from the clues, write a paragraph to analyse the given argument in about (100-120
words).
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The pressure of studies — spending time on social media, internet surfing — watching
television — sleeping less at night — inattentive and sleepy during daytime — hampered
arowth and development.

Section C (Literature) 40Marks

Q8 Read the extracts given below and answer the questions. Attempt ANY ONE from |
and ANY ONE from 1.

I 1 wrote the three pages Mr. Keesing had assigned me and was satisfied. 1 argued that 1X5=5
talking is a student’s trait and that I would do my best to keep it under control, but that
I would never be able to cure myself of the habit, since my mother talked as much as |
did if not more, and that there’s not much you can do about inherited traits.
Mr. Keesing had a good laugh at my arguments, but when | proceeded to talk my way
through the next lesson, he assigned me a second essay. This time it was supposed to be
on ‘An Incorrigible Chatterbox’
I. Mr. Keesing asked Anne to write a second essay on .
A. herself B. An Incorrigible Chatterbox
C her friend D. her family
ii. What convincing argument was made by Anne about her talking habit?
A. She was talkative just like any other student in the class.
B. She had the right to be talkative, as it was a classroom and not a prison.
C. She had inherited the trait from her mother, so couldn’t stop being talkative.
D. She found it impossible to be quiet like the others as she couldn’t change herself.
iii. Choose the option that lists the set of sentences that are NOT TRUE according to
the given extract.
Anne Frank was very talkative.
She was punished for her talkative nature.
She had inherited the trait from her mother.
Mr. Keesing was shocked to read her essay.
Anne was thankful to her teacher for the punishment.
4 and 5 B. l1land?2 C.3and 4 D.Only 5
iv. Why do you think Mr Keesing chose the title - ‘An Incorrigible Chatterbox’ - for
Anne, to write on?
V. What does ‘had a good laugh’ imply, in relation to Mr. Keesing?
OR
The two boys started in surprise at the fresh muddy imprints of a pair of bare feet. What
was a barefooted man doing on the steps of a house in the middle of London? And
where was the man?
As they gazed, a remarkable sight met their eyes. A fresh footmark appeared from
nowhere!
Further footprints followed, one after another, descending the steps and progressing
down the street. The boys followed, fascinated, until the muddy impressions became
fainter and fainter, and at last disappeared altogether.

>oarwnE

I. The boys were surprised at the imprints of a pair of bare feet because
it was an unusual sight to see someone this way.

everybody in London moved around in shoes.

it was pretty cold to move around bare feet.

only a person who is homeless and wandering does so.

ii. The boys felt that the footprints were
seen due to some magic trick.

a figment of imagination.

of a man who was invisible.

those of a mysterious man.

Cowr»d4 DOWP
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iii. Pick the option that lists the correct direction of the footprints on the stairs, as
noticed by the boys.

©ODO

() (1) (V)

option (i)
option (ii)
option (iii)
option (iv)
Iv. %.. a remarkable sight met their eyes’. What does the word ‘remarkable’ mean?
v. Why did the footprints fascinate the boys?

An ultimate shaking grief fixes the boy 1X5
As he stands rigid, trembling, staring down
All his young days into the harbour where
His ball went. I would not intrude on him;

COow>

i. The poet uses the word ‘ultimate’ to describe the boy’s reaction. Pick the meaning that
DOES NOT display what, ‘ultimate’ means in the context given.
A. consequent
B. final
C. conclusive
D. fateful
ii. The boy is very young in this poem. As a mature, balanced grown-up, he might look
back and think that his reaction of ‘ultimate shaking grief” was
1) Unresonable to the loss.
2) Pretension to procure a new toy.
3) According to his exposure and experience then.
4) A reaction to the failure of retrieving the toy.
5) Justified and similar to what it would be currently.
A 5&2
B. 1&3
C. 2&4
D. 3&5
iii. Pick the option that lists the boy's thoughts, matching with the line- ‘As he stands
rigid, trembling, staring down".

(2) Good rid of
it, Now | can get
anewone. l've
been waiting for
a while

(1) | wonder
how! can
retrieve the ball |
guess I'll need
help

(3) I think | can
catch itif | run
through this
alley. | must cut
it d before it falls
into the harbour.

(4) Oh! I've lost it
it's gone. It's gone
forever That was
all the time | had
with it That time is
over..

Option 1
Option 2
Option 3
Option 4

COw>
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iv. Why does the speaker choose not to intrude?
V. What does the ‘ball’ symbolize in the “The Ball Poem” ?
OR
Read the extract given below and answer the questions that follow:
All night the roots work
to disengage themselves from the cracks
in the veranda floor.
The leaves strain toward the glass
small twigs stiff with exertion
long-cramped boughs shuffling under the roof
like newly discharged patients
half-dazed, moving
to the clinic doors.
(i) Choose the option that lists the examples of exertion as used in the passage.
(1) Neha had been up all-night keeping accounts and now she's resting.
(2) Swati was running for five miles non-stop last evening.
(3) Hemant is watching his favourite show and having snacks.
(4) Sachin helped a senior citizen board a flight in the morning.

A (1)&(Q)
B. 2)&((3)
C. (3)&(4)
D. (1) &(4)

i) Long-cramped and half-dazed are combination of two words joined together to form
compound words. Choose the option that DOES NOT correctly fit the definition of the
same.

(1) discharged

(2) backstage

(3) comeback

(4) toward

(5) knighthood

A. (1), (3)and (5)

B. (2),(3)and (4)

C. (2),(3)and (5)

D. (1) and (4)

iii) Choose the option listing the image that the poem metaphorically represents.

(iv)
A. Option (i)
B. Option (ii)
C. Option (iii)
D. Option (iv)
iv) The poet metaphorically points at the success of the struggle of women and their
freedom from in the poem ‘The Trees’ (Fill in the blank with an appropriate

word keeping in mind the idea/ideas used in the poem)

v) Find the poetic device used in the lines:
“like newly discharged patients

half-dazed, moving

to the clinic doors.”
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Q9

Q11

Q12

Answer the following questions in 40-50 words. Attempt ANY FOUR out of the FIVE
short answer type questions.

Coorgi’s belong to a valorous and hospitable race. Justify the statement by giving two
instances from the chapter ‘Coorg- Glimpses of India.’

The tiger in the poem ‘A Tiger in the Zoo’ presents a contrasting image with the tiger in
the poem ‘How to Tell Wild Animals.” Compare and contrast the two tigers with
reference to the way they have been presented in both the poems.

Writing a letter to God for help not only shows Lencho’s unshaken faith in God but
also his utter simplicity and innocence. Elucidate the statement with reference to the
story ‘A Letter to God.’

Why were the children fascinated by the baker? How did they show their eagerness to see
him?

‘To say that for destruction ice is also great.” \What does ‘Ice’ stand for? How is it
sufficient for the destruction of the world?

Answer the following questions in 40-50 words. Attempt ANY TWO out of the
THREE short answer type questions.

“Society must be protected from men like you.” Comment on the irony of the given
statement with the reference to the story “A Question of Trust.”

Ausable displays an acute sense of awareness of his surroundings. Justify the statement
by picking up two instances from the story ‘The Midnight Visitor.’

According to a popular quote — “Where there is no struggle, there is no strength.” In
what way is the quote relevant to the events of the story “A Triumph of Surgery”.

Answer the following questions in 100-120 words. Attempt ANY ONE out of the TWO
long answer type questions.

Describe the value of freedom for the human beings and how it is important for the
growth of civilisation and humanism as expressed in the lesson ‘Nelson Mandela: Long
Walk to Freedom.’

It is said that excess of everything is bad. Showering excessive love on a child may spoil
him, repeated reprimands may confuse a child and turn him into a defiant individual.
Justify the observation with reference to the poem “Amanda”

Answer the following questions in 100-120 words. Attempt ANY ONE out of the TWO
long answer type questions.

Anil plays a major role in the transformation of Hari Singh. Comment on the statement
by highlighting the values possessed by Anil which touched Hari’s heart and made him
return to his honest ways of earning his livelihood.

What were the hurdles that Griffin had to overcome in order to survive in the invisible
form?

3k %k 3k 3k 3k %k %k %k %k %k k k
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DAV INSTITUTIONS, WEST BENGAL ZONE
MID TERM EXAMINATION

SESSION 2022-2023
CLASS-X MAXIMUM MARKS: 80
SUBJECT-MATHEMATICS TIME- 3 HOURS

General instructions:

(1) All the questions are compulsory

(i) The question paper consists of 37 questions divided into 5 sections A,B,C,D and E.

(iii) Section A comprises of 16 questions of 1 mark each. Section B comprises of 6 questions of 2 marks
each. Section C comprises of 8 questions of 3 marks each. Section D comprises of 3 questions of 4 marks
each. Section E comprises of 4 case studies questions of 4 marks each (MCQ type attempt 4 out of 5)

(iv) There is no overall choice. However, an internal choice has been provided in 5 questions of 1 mark, 2
questions of 2 marks, 2 questions of 3 marks and 2 questions of 4 marks. You have to attempt only one of
the alternatives in all such questions.

SECTION-A
1 Express 3825 as a product of its prime factors. 1
OR
The HCF of two numbers is 27 and their LCM is 162. If one number is 81 find the other number.
2 If pisaprime number, then find LCM of p, p?and p3. 1

w

Write the quadratic polynomial whose zeroes are 2++/3 and 2-v3 .
4 If the product of zeroes of the polynomial ax’— 6x — 6 is 4, write its sum of zeroes.
OR
Write the sum and product of zeroes of the polynomial p(x) = 3(x? — 2) +x.
5  For what value of k, do the equations 2x — 3y + 10 = 0 and 3x + ky + 15 = 0 represent coincident 1

lines.
6  For which value of k the system of equations 2x + 3y =5 and 1
4x + ky-10 = 0 has infinitely many solutions
OR
Find the value of k for which the system of equations x + 2y = 3 and 5x + ky + 7 = 0 has
no solution.
7 Write the point of intersection of the pair of lines whose equations are given by x =aandy =Db. 1
8 If 3cotA =4, then find the value of tanA — cotA . 1
9  For which value of an acute angle A, sinA = cosA ? 1
OR
If 3tan 6 = 4, then find the value of sin 8 — cos 6.
10 What is the perimeter of a triangle with vertices (0, 4), (0, 0) and (3, 0). 1
11  If the distance of the point (4, a) from x-axis is half its distance from y-axis then what is the value 1
of a?
12 Ifthe AABC and ADEF are similar such that 2AB=DE and BC= 8 cm, then find the value of EF. 1
OR

A girl of height 90 cm is walking away from the base of a lamp-post at a speed of 1.2 m/s. If the
lamp is 3.6 m above the ground, then the length of her shadow after 4 seconds is....?

13 If ABC and DEF are similar triangles such that £A = 47° and 2E = 83°, then what is the measure 1
of £C?

14 Cards are marked with numbers 5 to 25 are placed in the box and mixed thoroughly. One card is 1
drawn at random from the box. What is the probability of getting number less than 10.

15 A bag has 3 red balls and 5 green balls. If we take a ball from the bag, then what is the 1
probability of getting red balls only?

16  If the probability of not happening an event is 0.0037 , then what is the probability of happening of 1
that event?



SECTION-B
If one zero of the polynomial (a? + 9)x? + 13x + 6a is reciprocal of the other. Find the value of a.

Solve the system of equations:
X -2y=0,3x+4y=20

If A and B are (4,-5) and (4,5) respectively, find the coordinates of P such that AP:EAB
OR

Find the coordinates of the points which divide the join of A(-4, 0) and
B(0, 6) in three equal part.

Two coins are tossed simultaneously. Find the probability of getting
(i) at least one head  (ii) at most one head.
OR

A number x is selected from the numbers 1, 2, 3 and then a second number y is randomly
selected from the number 1, 4, 9. What is the probability that the product xy of the two
numbers will be less than 9?
If A =300, verify that: sin2A=2sinA.cosA.
Find the HCF of 96 and 404 by prime factorisation method. Hence find their LCM.
SECTION-C

A number consists of two digits whose sum is 10. If 18 is subtracted from the number the digits
are reversed. Find the number.

OR

Five years ago, A was thrice as old as B and 10 years later A will be twice as old as B .What are
present age of A and B ?
Explainwhy 7 x 11 x 13+ 13and 7x 6 X 5x 4 x 3 x 2 x 1 + 5 are composite numbers.

If m and n are the zeroes of x? + x + 4, then find %+%

If P(1, 2), Q(4,6), R(5,7) and S are the vertices of a parallelogram PQRS then find the coordinate
of point S.

If sin (A + B) =1 and cos(A — B) = 1, then find the value of A and B, where A and B both are
acute angles.

Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides in
distinct points, the other two sides are divided in the same ratio.

If sin 8 +cosec #=2 then find the value of sin®° 6 + cosec® 6.

In the below figure, if AB|IDC. AC and PQ intersect each other at the point O, Prove that OA .

A P B
o
D Q C
CQ=0C .AP
OR
P
In the adjoining figure if ABJ| PQ and
ACI|| PR . Then prove that BC Il QR
0
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SECTION-D

Prove that:- \/5“9_1* \/5“9“ = 2cosech

sec6+1 ' sec6—-1

OR
Prove that: 2(sin®0 + cos®8) — 3(sin*6 + cos*6) + 1 = 0.
Obtain zeroes of the quadratic polynomial v/3 x?-8x + 4/3 and verify the relationship between
its zeros and coefficient.

OR
If « and B are zeroes of a quadratic polynomial p(x) = 3x? — 6x + 4, then find the value of
a  pB 1 1
E+;+2(Z+E) + 3af.

Find the largest number that divides 1251, 9377 and 15628 leaving remainders 1,2 and 3
respectively.

SECTION-E(CASE STUDY BASED)
Three friends are playing with cards. One of them hides all the 3’s, 7’s, and Queens from the
deck of 52 cards and then shuffled the remaining card. Now he tells to one of his friends to pick
a card at random from the remaining cards.

On the basis of above information answer the
following questions.
(1) The probability of getting 6 of diamond is

@0 (1 OF (d) 5
(i) The probability of getting a face card is

@= () (©)= OF
(iii) The probability of getting a card of club is

@ = (b ()= (d) 5
(iv) The probability of getting an ace card is

@: () (©) = (d) =
(v) The probability of getting a red card is

@: () (c)2 OF

In an examination hall, students are seated at a distance of 1 m from each other, to maintain the
social distance due to CORONA virus pandemic. Let four students sit at points A,B,C and D
whose coordinates are (-3,2), (-5,-5), (2,-3) and (4,4) respectively.

Based on the above information, answer the following.
(i) The distance between A and C is

(a) 4V/2unit  (b) 5v2 unit (c) 6v2 unit (d) 72 unit
(ii) If an invigilator at the point P, lying on the straight line joining B and C such that it divides
the distance between them in the ratio 2:3,then coordinates of P is

@) 03— ©GD @ (=5
(iii) The mid-point of the line segment joining B and D is
@) OC3- ©6 @ (-39

(iv) The quadrilateral formed by joining A,B,Cand D is a
(@) Rectangle  (b) Square (c) Trapezium (d) Rhombus

N



(v) The mid-point of the line segment joining A and C is
5 - 3
@CD  OED ©(3-9 @G-
36  Geeta is trying to find the height of a tower near her house. She is using the properties of similar
triangles. The height of Geeta’s house is 30 m when Geeta’s house casts a shadow of 10 m long

on the ground. At the same time, the tower casts a shadow 40 m long on the ground and the
house of Rita casts 15 m long shadow on the ground.

A
-

Geeta's house Tower Rita's house

o E‘".::'!?it d

Observing the above conditions give answer of these following questions.
()What is the height of the tower?

(@120 m (b) 60 m (c)80m (d) 100 m

(i)What is the height of Rita’s house?

(@40 m (b) 45 m ()50 m (d) 60 m

(iii))What will be the length of the shadow of the tower when Geeta’s house casts a shadow of 15
m?

(@ 60m (b) 70 m (c)80m (d)90m

(iv)When the tower casts a shadow of 25 m, at the same time what will be the length of shadow
of Geeta’s house?
(@) 625 m (b) 62.5 m (c)65.2m (d)6.25m
(V) When the tower casts a shadow of 30 m, at the same time what will be the length of shadow
of Rita’s house?
(@11.25m  (b)12.25m (c)1.125m (d) 122.5m

37 A boy usually go to a vegetable shop with his grand-father. He observes the following two
situations.
On Day-1: The cost of 2kg of potato and 1 kg of onion was Rs 78.
On Day 2: The cost of 3 kg of potato and 2kg of onion was Rs 132

B — Olon

questions.

(i) Which one of the following represents the situations of Day-I correctly
(a) x+2y=78 (b) 2x+2y=78  (c) 2x+y=39  (d) 2x+y=78

(i) Which one of the following represents the situations of Day-11 correctly
(a)2x+3y=132 (b) 3x+2y=132 (c) 3x+2y=78  (d) 3x-2y=132

(iii) The linear equation represented by Day-1 intersect the X -axis at

(a) (0,39) (b) (39,0) (c) (0,78) (d) (78,0)
(iv)The cost of 2kg of potato and 2kg of onion is
(@ Rs 78 (b) Rs 100 (c)Rs 108 (d) None of these

(v) The cost of 1kg of onion is
(a) Rs 28 (b) Rs 25 (c) Rs 24 (d) Rs 30
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General Instructions:
Read the following instructions very carefully and strictly follow them-

(1)
(i)
(iii)
(iv)
v)

(vi)
(vii)

(viii)

(ix)

This question paper comprises 8 printed pages and 30 questions. All questions are compulsory
This question paper is divided into four sections- A, B, C and D.

Section A- Question No. 1 to 6 are very short answer type questions. Each question carries 1 mark.
Section B - Question No. 7 to 12 are short answer type questions. Each question carries 2 marks.
Section C- Questions No. 13 to 26 are also short answer type questions. Each question carries 3
marks.

Section D - Question No. 27 to 29 are long answer type questions carrying 5 marks each. Question
No. 30 is a case-based question carrying 5 marks.

Internal choices have been provided in some questions. Only one of the alternatives has to be
attempted.

Please write down the serial number of the question in the answer-book before attempting it.

Draw diagram wherever necessary.

SECTION A
A student added 10g of calcium carbonate in a rigid container, secured it tightly and 1
started to heat it. After some time, an increase in pressure was observed, the pressure
reading was then noted at intervals of 5 minutes and plotted against time, in a graph as
shown below.

1.00)
0.75 /

5 10 15
Time (min)

A

Pressure (atm)

[=]

During which time interval did maximum decomposition take place? Name the type of

reaction that takes place.

The graph given below depicts a neutralization reaction (acid + alkali — salt + water). The 1
pH of a solution changes as we add excess of acid to an alkali.

144
pH

Find the letter which denotes the area in the graph where both acid and salt are present?
State the reason.

volume of acid added



“Binary fission is different in Amoeba and Leishmania”. Justify the statement.
OR
Why is variation important for survival of a species?
Read the instruction given below for Q. No. 4 to Q. No. 6-
Two statements are given- one labelled as Assertion(A) and the other as Reason(R). Read
the statements carefully and choose the option that correctly describes statements A and R.
A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true and R is not the correct explanation of A.
C. Alstrue but R is false.
D. Aisfalse but R is true.
Assertion (A): Human eye has ability to form sharp images of objects at different position
from the eye, on the retina of the eye.
Reason (R): Eye lens is a convex lens of fixed focal length.
Assertion(A): Calcium oxide can be reduced to calcium, by heating with sodium metal.
Reason (R): Sodium metal acts as an oxidizing agent in the above process.

Assertion (A)— Alveoli contains a extensive network of blood vessels.
Reason (R)- Alveoli is the site where exchange of gases occurs.

SECTION B
Refer to the given diagrams. Identify the type of device marked as X and Y. Also mention
the focal length of X and .

/4
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8. (a) White light is dispersed into its seven-colour components by a glass prism. State the 2
cause of this dispersion of white light by the glass prism.
(b) Refer to the following figure in which a student has marked the angle of incidence
(¢ 1), angle of refraction (« r), angle of emergence (£ €), angle of prism (£« A) and the
angle of deviation (£ D). Which of these angles are correctly marked in the given figure?
A

-
/ -
/ e .
- -
T 2
/ -
/ \ ’
/ \ -
o~ o
- ~

OR
(a) The ciliary muscles of a normal eye are in their (a) most relaxed (b) most contracted
state. In which of the two cases is the focal length of the eye-lens more?
(b) The “danger’ signal lights installed at the top of tall building are red in colour. Give
reason.

Q. A shining metal 'M', on burning gives a dazzling white flame and changes to a white
powder 'N'. 1+1
(a) Identify 'M"and 'N'.
(b) Does 'M" undergo oxidation or reduction in this reaction? Justify.

10. ‘About 180 litre of filtrate is produced each day but only 1.5 litre of urine is 2
excreted out.” Justify this statement.
11. Study the given figure and answer the question that follows: 2

(@) Identify the organism and name the process by which it reproduces.
(b) What does the reproductive part of the above organism contain and why are the small
structures in the reproductive part protected by thick walls?
12. Given below is a diagram. Study it carefully and answer the following questions. 2

SUNLIGHT HEAT
HEAT

N\ = L ya

PLANTS

o | Hersivores CARNIVORES
2 ?

o~ N N

RESPIRATION RESPIRATION RESPIRATION

1000 units

(a) How much energy (in units) will pass from producer to herbivore and herbivore to
carnivore respectively?
(b) The first trophic level in a food chain is always green plants. Why?

3



13.

14.

15.

16.

17.

OR
(a) A geographical area contains organisms like snake, grasshopper, peacock, grass and
frog. If pesticides were used in this area to Kill insects, which organism among the above
will have maximum amount of pesticides. Name the phenomenon involved in this case.
(b) What will be the amount of energy available to the organisms of the second trophic
level of food chain, if the energy available at the first trophic level is 10,000 Joules?
SECTIONC

A student wants to project the image of a candle flame on a screen 80 cm in front of a
mirror by keeping the flame at a distance 20 cm from its pole.

(@) Find the focal length of the given mirror.

(b) Name the type of mirror used in this case. Mention the nature of image formed.

(c) Find the linear magnification of the image produced.

(a) Three students performed an experiment to trace the path of a ray of light passing from
air through a rectangular glass slab. They tabulated their observations as given.

Students | Angle of incidence | Angle of refraction Angle of emergence
P 30° 25° 30°
Q 30° 32° 30°
R 60° 60° 62°

Which one of the students has performed the experiment correctly?

(b) The refractive indices of water and glass are 4/3 and 3/2 respectively. If speed of light

in glass is 2 x 108 m/s, find the speed of light in water.

(@) A ray of light is incident normally to the surface of a glass slab placed in air. Mention

OR

the angle of incidence and angle of refraction in this case.

(b) If the power of the lenses L1 and L are in the ratio 5: 1, what would be the ratio of the

focal length of L1 and L>?

The following table gives the value of the refractive indices of few media.

Medium Refractive index
Water 1.33
Kerosene 1.44
Crown glass 1.52
Diamond 2.42

Light from air enters the water, then kerosene, then crown glass and finally diamond.

(@) Name the medium which has highest optical density.

(b) In which medium speed of light is maximum?

(c) Calculate the refractive index of diamond with respect to kerosene.
Renuka went to an eye specialist for check-up. He prescribed him to use spectacle lens of
power + 0.5 D.

(a) Name the defect of vision he is suffering from. Mention any two causes of this defect.

(b) Draw a ray diagram to show how the eye defect can be corrected by using a suitable
lens.
One day Rajeev and his family were going to their village in a car. During the journey it
was raining. Children were enjoying travelling in rain. After sometimes rain stopped and
started to get bright sunlight. At that time, his younger son Soham noticed a rainbow in the
sky. Soham was curious and wanted to know how the rainbow is formed in the sky.
Rajeev explained his children about the formation of rainbow.

1+1+1

1+2

1+2

1+1+1
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(@) Explain how rainbow is formed in the sky.
(b) Draw a labelled diagram in support of your answer.
A Cu plate was dipped into a solution of AgNOs. After sometimes a greyish black layer
was deposited on the copper plate and the solution becomes blue.
@ Name the substance which is deposited on copper plate. Identify the substance
which imparts blue colour in solution.
(b) Write the balanced equation for the reaction involved.
(©) Mention the type of chemical reaction.
OR
In the reaction between MnO> with HCI it is observed that a gas with bleaching abilities is
released along with other two products manganous (I1) chloride and water.
@ Write the balanced equation for the above reaction.
(b) Mention the type of reaction.
(c) Identify the substances oxidized and reduced.
Whenever a chemical change occurs, we can say that a chemical reaction has taken place.
A schematic representation of any chemical reaction with the help of symbols and
formulas of various species is called a chemical equation. A chemical equation should
include all the information regarding the reaction.
@) Write the symbols used to represent the liquid state and aqueous state of the
reactants and products.
(b) Differentiate between liquid state and aqueous state.
(©) In a chemical equation, where the reaction conditions, such as temperature,
pressure, catalyst, etc., for the reaction are indicated?
A student working in the laboratory added some water to a syrupy liquid (concentrated
acid) taken in a beaker. The beaker immediately cracked, and the liquid escaped out, that
produced blisters on the skin of the student.
(a) Explain the causes for breaking of glass apparatus and blister on the skin.
(b) Write the correct procedure for the preparation of dilute acid.
(c) How is the concentration of hydronium ions (H3O*) affected when a solution of an
acid is diluted?
Following are the observations of an experiment on conduction of electricity by
electrolytes.

Sl. No. | Sample Solution Observation Inference

1 Sodium hydroxide Bulb Glows Conducts electricity
2 Sulphuric Acid Bulb Glows Conducts electricity
3 Glucose Solution Bulb does not glow No conduction

4 Alcohol Solution Bulb does not glow No conduction

This shows that acidic and basic solution conduct electricity while glucose and alcohol

solutions do not conduct electricity.

(a) What make acids and bases conducting in nature?

(b) Glucose and alcohol solutions do not conduct electricity, why? Can all substances
containing hydrogen be called acids? Justify.

(c) Write a balanced equation that shows the ionization of H>SOa.

Sample solutions pH value
A Gastric juice 1.2
B Sodium hydroxide solution 14

5
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The pH of C Acetic acid 5 some
solution is D Lemon juice 2.2 given below:
E Sodium hydrogen carbonate | 8
solution

@ Arrange the samples in increasing order of hydrogen ion concentration. State the
relation between the hydrogen ion concentration and pH of the solution.
(b) If someone in the family is suffering from a problem of acidity after overeating,
which of the above sample would you suggest as a remedy and why?
OR
The tooth decay process begins the moment the enamel of the tooth is damaged. It is
caused due to food particles being left behind or improper cleaning of teeth. Doctors
suggest use of tooth powder/ tooth paste to prevent tooth decay.
@ Write the name of the chemical present in tooth enamel. State the condition when it
starts corroding.
(b) What happens when food particles left in the mouth degrade?
(©) Doctors suggest use of tooth powder/toothpaste to prevent tooth decay. Justify.
During respiration in an organism A, one molecule of glucose produces 2 ATP molecules
whereas in respiration of another organism B, one molecule of glucose produces 38 ATP
molecules.
(a) Identify the organism which is undergoing aerobic respiration and the organism
undergoing anaerobic respiration.
(b) Among organism A and B, which one can convert glucose into alcohol? In which part
of the cell glucose is converted into pyruvate?
(c) Name an organism which behaves like A and an organism which behaves like B.
OR
(a) Explain how the loss of blood from our body is naturally stopped after some time in
case of minor injury?
(b) List two characteristics of lungs which make them an efficient respiratory surface.
(c) Lymph is called tissue fluid. Explain.
Read the passage carefully and answer the questions from (a) to (c).
Plants respond to stimuli slowly by growing in particular direction. Because this growth is
directional, it appears as if the plant is moving. Environment triggers such as light or
gravity changes the direction that plant grows in. These directional or tropic movements
can be either towards the stimulus or away from it. Shoots respond by bending towards
light while roots respond by bending away from it.
(a) Tendrils encircle or coil around the object in contact with it. Elaborate.
(b) Which type of tropic movement does “growth of pollen tubes towards ovules during
fertilization’’ show?
(c) Name the plant hormone (i) that promotes cell division.
(i) that promotes stem growth.
(a) Identify the leaf shown and name
the method used by the leaf for
reproduction.

(b) Give any two advantages of the
method used.

1%
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Direction: Answer the questions on the basis of your understanding of the following 1+1+1
passage and related studied concepts.
Ozone (0s) is a highly reactive gas composed of three oxygen atoms. It is both a natural
and a man-made product that occurs in the Earth's upper atmosphere (the stratosphere) and
lower atmosphere (the troposphere). Ozone constitutes a very small part of our atmosphere,
but its presence is nevertheless vital to human well-being. Most ozone resides high up in the
atmosphere, between 10 and 40km above Earth's surface. This region is called the stratosphere
and it contains about 90% of all the ozone in the atmosphere. Depending on where it is in the
atmosphere, ozone affects life on Earth in either good or bad ways.
(a) How is ozone formed in the upper atmosphere?
(b) Name the synthetic chemical responsible for the depletion of ozone layer.
(c) State the importance of ozone layer in the atmosphere.

SECTION D

In the given diagram of reflex arc: 2+2+1
(a) Name the parts labelled A, B, C and D.
(b) Write the function of B and E.
(c) Which signals will get disrupted in case of a spinal cord injury?

\\3-;——_":':5
ﬁ.f
(A) //)
—~ T

-~ (E)

In one of the industrial processes used for the manufacture of sodium hydroxide, agas X is  1+2+2
formed as by-product. The gas X reacts with dry slaked lime to give a compound Y which
is used as bleaching agent in chemical industry.
(a) Name the industrial process.
(b) Identify X and Y and write one use for each.
(c) Write the balanced equations for the formation of X and Y.
OR
a) Rahul found that the plaster of Paris, which he stored in a container, has become very 3+2
hard and lost its binding nature.
(i) Write chemical name and formula for plaster of Paris.
(if) What is the reason for the Rahul’s observation?
(iii) Give two uses of Plaster of Paris.
b) The crystals of compound ‘A’ on keeping in air converted into a white powder. Its
solution in water gives blue colour with red litmus. It is used to remove permanent
hardness of water.
(1 Identify the substance. Write chemical formula for its crystalline form.
(i) Write two uses of the substance.
(a) What should be the position of the object, when a concave mirror isto be usedasa 1+1+1+2
shaving mirror?
(b) Name the type of lens that can be used as magnifying glass. Give two reasons and
draw a ray diagram to support your answer.
OR
(a) The figure shown below is a photograph of a convex lens. A small bright spot is seen 2+3
on the paper when the lens is kept out facing the sun.

7
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Draw a diagram which explains the formation of the bright spot in the above figure.

(b) A sharp needle is placed 12 cm away from a convex mirror of focal length 15 cm. Find

the location of image and its magnification.

Why do we prefer this mirror as a rear-view mirror in vehicles? (Give two reasons)

Read the paragraph given below and answer the following questions. 2+1+1+1

Double circulation system occurs in all vertebrates other than fish. The blood is pumped

through a pulmonary circuit to the lungs, where it is oxygenated. The blood returns to the

heart which pumps the oxygenated blood, through a systemic circuit, to the body. In

amphibians and most reptiles, the heart is not completely divided and there is some mixing

of oxygenated and deoxygenated blood. In birds and mammals, the heart is fully divided

and there is no mixing of blood.

(a) Mention two advantages of four chambered heart found in mammals over three
chambered heart found in reptiles.

(b) Veins are provided with valves. Give reason.

(c) Why do ventricles have thicker muscular walls than atria?

(d) Circulatory system found in fishes is different from human beings. Justify.
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General Instructions:

There are 32 questions in the question paper. The Question paper comprises five
Sections— A, B, C, D and E.

Section A — Question no. 1 to 16 are Objective Type Questions of 1 mark each.
Answer the MCQs (from Q.No.1 to 12) by choosing the most appropriate option.
Section B — Question no. 17 to 22 are short answer type questions, carrying 3 marks
each. Answer to each question should not exceed 80 words.

Section C — Question no. 23 to 26 are source-based questions, carrying 4 marks
each. Answer them as instructed.

Section D — Question no. 27 to 31 are long answer type questions, carrying 5 marks
each. Answer to each question should not exceed 120 words.

Section E — Question no. 32 is map based, carrying 5 marks with two parts, 32.A
from History (2 marks) and 32.B from Geography (3 marks). Attach the map along
with answer sheet.

There is no overall choice in the question paper. However, an internal choice has
been provided in few questions.

SECTION A
Germania wears a crown of oak leaves, as the German oak stands 1
for .
A) Heroism
B) Nationalism
C) Prosperity
D) Peace
Arrange the following events in chronological order: 1
I. Treaty of Vienna
ii. Civil Code of Napoleon
iii. Louis Philippe installed as constitutional monarch
iv. Zollverein was formed
A) iv, ii, i, iii
B) ii, i, iii, iv
C) iii, ii, v, i
D) i, iv, ii, iii
Division of powers between higher and lower levels of government are 1
called

A) Horizontal division
B) Parallel division
C) Vertical division
D) None of these

In Scandinavian countries such as Sweden, Norway and | the 1
participation of women in public life is very high.

A) Finland

B) Hungary

C) Russia

D) Latvia



Rajasthan has enormous capacity for generating solar and wind energy,
much of which is not utilised yet properly. So, the solar energy of
Rajasthan is an example of-

A) Reserve resource

B) Potential resource

C) Stock

D) Developed resource

Andaman teal is an example of —

A)Rare species

B) Endemic species

C) Normal species

D) Endangered species

Per Capita income of a country is calculated by-

A) The total income of a person

B) Dividing the national income by the total population of a country.
C) The total value of all goods and services

D) The total exports of the country.

OR
Money can not buy all the goods and services that we may need to have
a good life. A list of things required for a good life is given below.
Identify among the following that money cannot buy.
1. Full protection from infectious diseases.
2. High quality education.
3. A luxury home.
4. A pollution free environment.
Options:
A 1&2
B) 2&3
C) 3&4
D) 1&4

Identify which of the following cannot be developmental goal for a
landless rural labourer.

A) More days of work.

B) Better wages

C) Quality education for children

D) Foreign tours.

OR
Kerala has low Infant Mortality Rate because:
A) It has good climatic conditions.
B) It has adequate infrastructure.
C) It has adequate provision of basic health facilities.
D) It has poor net attendance ratio.

Which of the following examples does not fall under the unorganised
sector?

A) A farmer irrigating his field.

B) A daily wage labourer working for a contractor

C) A doctor in a hospital treating a patient.

D) A handloom weaver working on a loom in her house
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The sectors are classified into public and private sector on the basis of-
A) Employment conditions
B) The nature of economic activity
C) Ownership of enterprises
D) Number of workers employed in the enterprise
Two statements are given in the question below as Assertion (A) and
Reason (R)
Read the statements and choose the appropriate option.
Assertion (A): Human development is a wider term which does not
include economic development only.
Reason (R): It includes educational capabilities, health
conditions, decent standard of living etc.
Option:
A)Both A and R are correct and R is the correct explanation of A
B) Both A and R are true and R is not the correct explanation of A.
C) Aistrue, R is false.
D) A is false, R is true.
Two statements are given in the question below as Assertion (A) and
Reason (R)
Read the statements and choose the appropriate option.
Assertion (A): The availability of resource is a necessary condition for
the development of any region.

Reason (R): Resource development not only involves the availability of
resources, but also the technology.
Options:
A) Both A and R are correct, and R is the correct explanation of A
B) Both A and R are true and R is not the correct explanation of A.
C) Ais true, R is false.
D) A is false, R is true.
are the subset of the , which can be put into use with

the help of existing technical ‘know-how’, but their use has not been
started.
Define ‘Coming together’ federation with example.

OR
Mention the dual objectives of federalism practised in India.
Suggest the main aim of feminist movements.

OR
How can the problems of women’s representation, harassment and
exploitation be solved? State any one way as suggested by women’s
movement.
Identify two main causes for the large scale deforestation during
colonial period in India.

OR
Define the term Permanent forests.
SECTION -B

Mention any three socio economic changes which were introduced after
the French Revolution in France.
The First World War created a new economic situation in India. Give

any three arguments in support of the statement.
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Define the term Majoritarianism. State any two measures adopted by Sri 1+2
Lanka in 1956 as part of their Majoritarian policy.
OR
Highlight any three measures adopted by the Belgium Constitution for
the prevention of conflicts in Belgium.
Describe how communities have conserved and protected forests and 3
wildlife in India?
In a colony there is a barren land. Children use it regularly for playing
football, jogging, badminton and other recreational activities. The
government decides to build shops in the given space.
A. State any two developmental goals of the government in this
context.
B. In what way are these goals contradictory to those of the
children.
a) Why do you think per capita income is better than national income to 1+2
compare development of two countries?
b) Explain one limitation of per capita income to consider it as a
measure of economic development.
SECTION-C

SOURCE BASED QUESTIONS
Read the source given below and answer the questions from 23.1to  1x4=4

23.4 by choosing the most appropriate option:
The Grimm Brothers: Folktale and Nation-building

Grimm’s Fairy Tales is a familiar name. The brothers Jacob and
Wilhelm Grimm were born in the German city of Hanau in 1785 and
1786 respectively. While both of them studied law, they soon developed
and interest in collecting old folktales. They spent six years travelling
from village to village , talking to people and writing down fairy tales,
which were handed down through the generations. These were popular
both among children and adults. In 1812, they published their first
collection of tales. Subsequently, both the brothers became active in
liberal politics, especially the movement for freedom of the press. In the
mean-time they also published a 33-volume dictionary of the German
language.

The Grimm brothers also saw the French domination as a threat to
German culture, and believed that the folktales they had collected were
expressions of a pure and authentic German spirit. They considered their
project of collecting folktales and developing the German language as a
part of the wider effort to oppose the French domination and create a
German national identity.

2+1

23.1. Identify the term used to describe such movements that aimed at
reviving national spirit.

A) Romanticism

B) Economic nationalism

C) Feminism

D) Liberal nationalism
23.2. Which country dominated the German culture?

A) Great Britain

B) Poland
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C) Russia

D) France
23.3. A reason behind using folklores as a means of reviving national
spirit was-

A) To promote vernacular language

B) To carry the modern nationalist message to large audience

C) To entertain a large audience

D) To glorify reason and science.
23.4. The Grimm brothers collected folktales and developed the German
language as an effort to-

A) Promote scientific temperament

B) Popularise reading of bedtime stories

C) Publicise themselves.

D) Create a common cultural past as the basis of a nation.
Read the source given below and answer the questions from 24.1 to
24.4 by choosing the most appropriate option:
Constitutional provisions are necessary for the success of federalism but
these are not sufficient. If the federal experiment has succeeded in India,
it is not merely because of the clearly laid out constitutional provisions.
The real success of federalism in India can be attributed to the nature of
democratic politics in our country. This ensured that the spirit of
federalism, respect for diversity and desire for living together became
shared ideals in our country. Let us look at some of the major ways in
which this happened. The creation of linguistic States was the first and a
major test for democratic politics in our country. This was done to
ensure that people who spoke the same language lived in the same State.
Some States were created not on the basis of language but to recognise
differences based on culture, ethnicity or geography. These include
States like Nagaland, Uttarakhand and Jharkhand. A second test for
Indian federation is the language policy. Hindi was identified as the
official language. But Hindi is the mother tongue of only about 40 per
cent of Indians. Therefore, there were many safeguards to protect other
languages. Besides Hindi, there are 21 other languages recognised as
Scheduled Languages by the Constitution. A candidate in an
examination conducted for the Central Government positions may opt to
take the examination in any of these languages. States too have their
own official languages.
24.1. The reasons for the formation of new states were —

A) Language

B) Culture and Geography

C) Ethnicity

D) All of the above

24.2. Federalism could be successfully implemented in India due to —
A) Constitutional provision
B) Charismatic leadership
C) Nature of democratic politics
D) Both (A) and (C)
24.3. ldentify the outcome of the formation of linguistic states on
federalism in India.
A) Weakened the foundations of democracy
B) Strengthened the unity of the country

1x4=4
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C) Disintegration of the country
D) Development of communalism in the country
24.4. One language policy was not implemented in India because —

A) The leaders wanted regionalism to dominate
B) Federal principles were uppermost in the minds of the political
leaders
C) None was ready to accept one language as the official one
D) Desire to retain the colonial legacy
Read the source given below and answer the questions from 25.1 to

25.4 by choosing the most appropriate option:

Agriculture has been practiced in India for thousands of years. Sustained
uses of land without compatible techno-institutional changes have
hindered the pace of agricultural development. In spite of development
of sources of irrigation most of the farmers in large parts of the country
still depend upon monsoon and natural fertility in order to carry on their
agriculture. For a growing population, this poses a serious challenge.
Agriculture which provides livelihood for more than 60 per cent of its
population, needs some serious technical and institutional reforms.
Thus, collectivization, consolidation of holdings, cooperation and
abolition of zamindari, etc. were given priority to bring about
institutional reforms in the country after Independence. ‘Land reform’
was the main focus of our First Five Year Plan. The right of inheritance
had already lead to fragmentation of land holdings necessitating
consolidation of holdings. The laws of land reforms were enacted but
the implementation was lacking or lukewarm. The Government of India
embarked upon introducing agricultural reforms to improve Indian
agriculture in the 1960s and 1970s.

25.1. Agricultural development in India was hindered due to —
A) Lack of techno-institutional changes.
B) Lack of irrigation facilities.
C) Irregular monsoon pattern.
D) All the above.

25.2. Identify the institutional reforms which were brought in the
country after independence for agricultural development.

A) Collectivization

B) Consolidation of holding.
C) Abolition of zamindari.
D) All the above.

25.3. The main focus of first five-year plan was —

A) Development of industry

B) Development of irrigation facilities
C) Land reforms

D) Both (B) & (C)

25.4. led to fragmentation of landholding in India.

A) Land reforms
B) Law of inheritance
C) Law of agriculture

1X4=4
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D) None of the above

Read the source given below and answer the questions from 26.1 to
26.4 by choosing the most appropriate option:
The various production activities in the primary, secondary and tertiary

sectors produce a very large number of goods and services. Also the
three sectors have a large number of people working in them to produce
these goods and services. With so many thousands of goods and
services produced, one may think that it is an impossible task! Not only
is the task enormous, one might also wonder how we can add up
furniture with mobile phones and food crops.

To get around this problem economists suggest that the values of goods
and services should be used rather than adding up their actual numbers.
But there is one precaution. Not every good or service that is produced
and sold needs to be counted. It makes sense only to include the final
goods. Intermediate goods are used up in producing final goods and
services. In this way when we calculate the total value of output that is
called GDP.

In India the mammoth task of measuring GDP is undertaken by a
Central Government ministry. This ministry along with the help of
various government departments of all the Indian states and union
territories collects information relating to the total volume of goods and
services and their prices and then estimates GDP.

26.1.GDP refers to :
A) Sum of money values of all goods and services produced in a
country in a year.
B) Sum of money values of intermediate goods produced in a
country in a year.
C) Sum total of the values of final goods and services produced in a
country in a year
D) All of these.
26.2. Intermediate goods are those goods—
A) Which are purchased by the consumer for their final satisfaction.
B) Which are purchased by the producers to use as raw material.
C) Whose values are included in the value of final goods.
D) Both B and C.
26.3.Final goods can be defined as:-
A) Goods purchased by consumers.
B) Goods which include the value of all other goods used as raw
material in the production process.
C) Goods which are included in National income.
D) All of these.

26.4. How can we know the total production in each sector?
A) Adding the actual quantity of output produced in a sector.
B) Adding the value of all intermediate goods used in production in
a sector.
C) Adding the values of goods or services produced in a sector in
an accounting year.

1X4=4
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32 A

32.B.

D) None of these.

SECTION-D
Discuss the Salt March to signify why it was an effective symbol of
resistance against colonialism.
OR
“Dalit participation was limited in the Civil Disobedience Movement.”

Explain the statement.
Describe the provisions of amendment made in ‘Indian Constitution’ in
1992 for making ‘Three Tier’ government more effective and powerful.

“The problem begins when religion is seen as the basis of a nation”.
Elucidate.
Mention the different methods of rain water harvesting practiced in
India. OR
‘In recent years multipurpose projects and large dams have come under
great scrutiny & opposition for variety of reasons.’ In this context
highlight two social problems & three ecological problems created by
large multipurpose dams.
a) Write a short note on underemployment in agricultural sector.
b) Mention any three ways by which more employment can be
generated in the rural areas.
OR
a) Write any three point of differences between Organised and
Unorganised sector.
b) ‘The tertiary sector is becoming so important in India.” Mention any
two reasons behind it.
SECTION-E
Two features, A and B are shown in the given political map of India.
Identify these places with the help of the following information and
write their names on the lines marked on the map:
A. Place where the September 1920 session of the Indian National
Congress was held.
B. The cotton mill workers organised a Satyagraha here in 1918.
1. On the outline political map of India locate and label the following
with suitable symbols.
Tehri Dam
OR
Hirakud Dam
2. On the same political outline map of India identify the followings
with the help of the given information and write their correct names on
the space provided in the map
A) Type of soil
B) A tea producing state
OR
A coffee producing state
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